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• )XOO FXUUHQW UDWLQJ RYHU OLQH DQG WHPSHUDWXUH

• )DVW WUDQVLHQW UHVSRQVH

• ��� WRWDO RXWSXW UHJXODWLRQ RYHU OLQH� ORDG

DQG WHPSHUDWXUH ������ IRU (=����%�

• $GMXVW SLQ FXUUHQW PD[ ���$ RYHU WHPSHUDWXUH

• )L[HG�DGMXVWDEOH RXWSXW YROWDJH �(=�����

• /LQH UHJXODWLRQ W\SLFDOO\ ������

• /RDG UHJXODWLRQ W\SLFDOO\ �����

• 72���� DQG 72���� SDFNDJHV
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7KH (=���� VHULHV RI KLJK SHUIRUPDQFH SRVLWLYH

YROWDJH UHJXODWRUV DUH GHVLJQHG IRU XVH LQ DSSOLFDWLRQV

UHTXLULQJ ORZ GURSRXW SHUIRUPDQFH DW IXOO UDWHG FXUUHQW�

$GGLWLRQDOO\� WKH (=���� VHULHV SURYLGHV H[FHOOHQW

UHJXODWLRQ RYHU YDULDWLRQV LQ OLQH� ORDG DQG

WHPSHUDWXUH�

2XWVWDQGLQJ IHDWXUHV LQFOXGH ORZ GURSRXW SHUIRUPDQFH

DW UDWHG FXUUHQW� IDVW WUDQVLHQW UHVSRQVH� LQWHUQDO

FXUUHQW OLPLWLQJ DQG WKHUPDO VKXWGRZQ SURWHFWLRQ RI WKH

RXWSXW GHYLFH� 7KH (=���� KDV ERWK IL[HG DQG

DGMXVWDEOH YROWDJH RSWLRQV� ZKLOH WKH (=����% LV

DGMXVWDEOH RQO\ IRU FRVW VHQVLWLYH DSSOLFDWLRQV� 7KHVH

GHYLFHV DUH DYDLODEOH LQ WKH SRSXODU 72���� DQG 72�

��� SDFNDJHV�

7(/������������� )$;������������� :(%�KWWS���ZZZ�VHPWHFK�FRP

$33/,&$7,216

• 3RVW UHJXODWRUV

• 3URFHVVRU ,�2 VXSSOLHV

• %DWWHU\ FKDUJHUV
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7HVW &RQGLWLRQV 7HVW /LPLWV

3DUDPHWHU 6\PERO 9,1 ,2 7-
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/LQH 5HJXODWLRQ
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4XLHVFHQW &XUUHQW
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$GM 9ROWDJH 9HUVLRQ
,2 �9 2�7� � �� P$

506 2XWSXW 1RLVH
���

91 ���& ����� �92

5LSSOH 5HMHFWLRQ 5DWLR
���

5$ �9 ���$ 2�7� �� �� G%

8QOHVV RWKHUZLVH VSHFLILHG� $GM 9,1  ����9 WR ���9 DQG $GM ,2  ��P$ WR ���$�

)L[HG 9,1  ���� WR ���9 DQG )L[HG ,2 � P$ WR ���$

127(6�

��� /RZ GXW\ F\FOH SXOVH WHVWLQJ ZLWK .HOYLQ FRQQHFWLRQV UHTXLUHG�

��� ∆9287� ∆95()  ��

��� %DQGZLGWK RI �� +] WR �� N+]�

��� ��� +] LQSXW ULSSOH �&$'- IRU $'-  ���)��

��� 2YHU 7HPS� �2�7��  RYHU VSHFLILHG RSHUDWLQJ MXQFWLRQ WHPSHUDWXUH UDQJH�



� ���� 6(07(&+ &253� ��� 0,7&+(// 52$' 1(:%85< 3$5. &$ �����

��� $03 326,7,9(

92/7$*( 5(*8/$725

(=����

(=����%

-XQH ��� ����

�

7<3,&$/ $33/,&$7,216

),;(' 92/7$*( 5(*8/$725
������

$'-867$%/( 92/7$*( 5(*8/$725
������

(=�����(=����%



� ���� 6(07(&+ &253� ��� 0,7&+(// 52$' 1(:%85< 3$5. &$ �����

��� $03 326,7,9(

92/7$*( 5(*8/$725

(=����

(=����%

-XQH ��� ����

�

'(9,&( 287/,1( � 72����

'(9,&( 287/,1( � 72����


